Total Pages—6

103 RO NO. cvovveverererevennens
May 2007
APPLIED CHEMISTRY
Time : 3 Hours Maximum Marks : 70

ez : (i) wow g sifard & sty 7 & fd ofa weat & I
g

Question No.l is compulsory, answer any Five
questions from the remaining.

(i) T YT & T WO F BT CF WG BT I

Solve all parts of a question consecutively to-
gether.

(iii) WRIE FeT B T IS & AT Fford
Start each question on fresh page.

(iv) 4T wreret & J= & @t Rafa § st sgare &
g g

Only English version is valid in case of difference
in both the languages.

1. (i) 3p, WA # 2 n, 1 3 m & 7= BRA | P
TawIte e 3d% 429 itaﬂ 3410 451!’;*@; T 1
HIT &7

Write the values of n, | and m for 3p, electron.

32/3300/White K. T Q.
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( 2 ) 103
What is the reason that electronic configuration
of Copper is 3d'® 4s' and not 3d° 4¢%?

500 fireht ot & 175 o CaClO53 wovgeas avear 1
o # Farwn & 6. o7 F B ol

500 ml of water contains 175 mg of CaCQjo0r its
equivalent. What will be its hardness in p.p.m.?

ATH 3 TEERE B ATE FT AR F FY ARy wowmEd

Explain the method for concentration of sulphide
ores of copper.

T O/ AT FIT HAHS &7 IR 3 Y WL )

What is acid rain? Explain giving examples.

HCl & o7 Regs & ot femar & Saet s
1x108M & it | 3% g9t pH 9 =1 @2
Water is added to dilute HC till its concentration

becomes 1x10® M. What will be its pH now?
[tog 1.1=1.0414] 25

IR frgr awmEd ) ety ¥ e @
fgeT T8 J & IEET §

Explain Aufbau principle. Give examples where
deviation from this law has been observed while
writing electronic configuration. 4

TR AT A AT T G £ 2 TS AT B W
Y AW ST T T TR FHe FHIE FHAT Feed
&7 SifadiorT o] A faga T H1 AW WS 29 #
HITT QL e |
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What do you understand by electron affinity?
How nuclear charge and atomic size affect the
value of electron affinity? Give reason of negetive
value of electron affinity of oxygen atom.1+2+1

a4 rqee Ratid (K,,) 7@ F srafs Toreed (K,) Jar
ety fats (K;) ¥ a9a=a CHyCOONa@aw & ford
=T HT 1

Establish relation between hydrolysis constant
(Ky), ionic product of water (K,,) and ionisation
constant (K;) for the salt sodium acetate CH;
COONa). 4

AH T FHOI [0 FEd £ WEDTARfg a8 smer
FHIA?

AT B FoRN H AdEew EDTA @A zm0 59 W
Prafaflae siee ura go—

What do you understand by degree of hardness
of water? How is it determined by EDTA method?

The following data were obtained while estimating
hardness of water by EDTA method.

50 B9, A & T 32.59.8. EDTA &% ¥mr )
50 ml of water required 32.5 ml of EDTA solution

| 50 9. F. TAW 5U AW @ frd 24.59, § EDTA %1 s

A F e U9 IR FEET s 1 (1 7. A EDTA
=.001 1 CaCO;) '

50 ml of boiled water required 24.5 mi of EDTA
solution. Find permanent and temporary hardness

K.T.0.
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of water. (I m of EDTA solution is equal to
0.001 g Ca0y). 442

U9 @ 3 YIN @ DA 99 (S99 0T o) 29 o oA
IO &7 AHENTT | 0% §o7 9 B e F H, = 30%, CO
= 20%, CH, = 8% @& N, =42% qaré 74t o ¥
g g et & Qofad e @ fd B owfer ag &
FEgEA B2 (Mg 7 IEfaw & aae =21%)

Why a fuel has two calorific values (higher and
lower)? Explain. A gasecus fuel is found to contaii
» Hy = 30%C 0=209%, CH, = 8% and N, = 42%
How much cubic metre of air will be required 0
burn 1.0 cubic meter of this gascous fuel. {Air
contains 219 oxygen by volume). J+3

Harron @ faeger wraratres R 2 g o waened  E
7 7 arg 2 9% g W AN & aurg g o a
BT ¥ |

Explain the electrochemical theory of corrosion.
How does the coating of tin metal over iron
protects it from corrosion? 442

e AT ATg YU a7 Parr & fl e e wodfo
Rafer &7 3 AT kAT v § 54 Bee g gz
A & by

Describe clectrostatic method used for contiulling
pollution due to smoke and air. How depletion of

e

ozone layer is helping pollution, 3+3
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e AT w5 @aer eyt W A B gar e 3
RraeT #T1 S R |

How is the behaviour of real gases different from
ideal gases? Explain the reason of deviation. 6

T T F U fafeyr & oy g9 aofw #ife

Describe one method for the manufacture of steel
with a neat diagram. 6

ferfed | wmate forar faflw o Rt & waes o o
fafEaw

Draw diagram of Rotary kiln and write the
manufacture of portland cement. Write chemical
reaction involved and composition of Klinker. 6

WEioF @ Fr 87 98 e e fEar onam #0 g
gl T SR & o sar &2 frdt o g @
& e # B A Rt 7 ged gvar fafed

What 1s natural rubber? How it is obtained? Why

and how its vulcanization is done? Write chemical
reactions and uses of any one synthetic rubber,

24242

wiee {5 ed &7 T & 01 (i) @11 U ST e
aar (i) Revear & w7 9e ¥ ey |
What is a lubricant? What is the importance of
properties like (a) viscosity and viscosity index
and (b) oiliness of a lubricant? Explain.

Contd. ...
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( 6 ) 103 -
9= § Sqfterd (a) §E@A A a9 (41 ares) aur (b) 99T
quies T TET THHEY |
Explain the importance of (a) Drying oil (or

vehicle) and (b) white pigment present in a paint.
4

frfafian dfet & TUPAC am fafed 1 (3 am):—

Write [IUPAC names of the following compounds.
(any four):-

CH'Z:CH_{I:"H_CH?

CH; O
CH;~C = (¢) H-C-OCH;
0
H—C—OH () CH;;—E:—GH
0 ;

wige feofrar fofed: — (@ &) -
Write short notes on:- (any three)~

Ffterer wIgat AR @ srqwd

Optical fibres and their applications

T B g FA A qegiee Ry
Permutite method for water softening

T e T § R g

Liquifaction of gases by Joule-Thomson effect

YA AR FwwTetE
Soap and detergents 4x3




